

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 17, 2025

Estimate Number 11 Gene Haile Excavating, Inc. Pay Period End November 15, 2025 Net Change Order Amount Current Contract Amount S \$1,800 November 17, 2025 November 17, 2025 Reviewed and Approved (and should be considered Draft) at the Project Office Level by Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by 2025	•		•						
November 17, 2025 November 17, 2025 Reviewed and Approved (and should be considered Draft) at the Project Office Level by 2025 Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by 2025 Reviewed and Approved at the Central Office Controllers Office Level by 2025 Original Completion Date	Estimate Number							Net Change Order Amount	\$1,825,000.0 \$16,673.0 \$1,841,673.0
November 17, 2025 Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by Reviewed and Approved at the Central Office Controllers Office Level by 2025 Original Completion Date December 1, 2025 December 1, 2025 Contract Informational Dates Current Completion Date Current Completion Date Current Completion Date Milestones No Milestones Exist for Contract Acceptance Date Awarded Date March 5, 2025 March 5, 2025 March 5, 2025 Notice to Proceed Date April 7, 2025 April 7, 2025	Approval Date								By User
November 18, 2025 November 18, 2025 Reviewed and Approved at the Central Office Controllers Office Level by 2025 Original Completion Date Current Completion Date Actual Completion Date % of Current Contract Amount Completion Date 81.44%				Generated and A	Approved (and should	d be considered	d Draft)	at the Project Office Level by	vierss
Original Completion Date				Reviewed and Appro	oved (and should be o	considered Dra	ft) at the	e Resident Engineer Level by	vierss
December 1, 2025 Contract Informational Dates Date Description Acceptance Date Awarded Date March 5, 2025 Letting Date Proceed Date April 7, 2025 December 1, 2025 December 1, 2025 Morch 2, 2025 April 7, 2025 Results of State Sta				I	Reviewed and Appro	ved at the Cen	tral Offic	ce Controllers Office Level by	ramses1
Contract Informational Dates Date Description Original Completion Date Acceptance Date Awarded Date Letting Date February 21, 2025 Notice to Proceed Date Current Completion Date March 5, 2025 April 7, 2025 March 5, 2025 April 7, 2025	Original Completi	on Date	Current Co	ompletion Date	Actual Complet	tion Date		% of Current Contract Amount	Complete
Date DescriptionOriginal Completion DateCurrent Completion DateAcceptance DateAwarded DateMarch 5, 2025Letting DateFebruary 21, 2025February 21, 2025Notice to Proceed DateApril 7, 2025	December 1, 2	025	Decem	ber 1, 2025				81.44%	
Acceptance Date Awarded Date March 5, 2025 Letting Date February 21, 2025 Notice to Proceed Date April 7, 2025 April 7, 2025		Contra	ct Informa	tional Dates				Milestones	
Awarded Date March 5, 2025 March 5, 2025 Letting Date February 21, 2025 February 21, 2025 Notice to Proceed Date April 7, 2025 April 7, 2025	Date Description	Original Compl	etion Date	Current Completion	n Date	No Milest	ones Ex	kist for Contract	
Letting Date February 21, 2025 February 21, 2025 Notice to Proceed Date April 7, 2025 April 7, 2025	Acceptance Date								
Notice to Proceed Date April 7, 2025 April 7, 2025	Awarded Date	March 5, 2025		March 5, 2025					
	Letting Date	February 21, 20	25	February 21, 2025					
Work Began Date	Notice to Proceed Date April 7, 2025 April 7, 2025								
š	Work Began Date								

Contract Total Pay For Estimate No. 11											
	TI	his Estimate	Previous	To Date							
250221-B01											
Total Posted	Items Pay \$	188,674.00	\$1,311,263.76	\$1,499,937.76							
Gross Item A	djustments \$	50,055.21	(\$96,004.83)	(\$45,949.62)							
Incentive	\$0	0.00	\$0.00	\$0.00							
Disincentive	\$0	0.00	\$0.00	\$0.00							
Liquidated Da	amage \$0	0.00	\$0.00	\$0.00							
Other Contract	ct Adjustments (\$	\$7,650.00)	\$0.00	(\$7,650.00)							
			\$1,215,258.93	\$1,446,338.14							
Contract Total Payable This Estima	te: \$	231,079.21									
tems Paid This Estimate Period											

Items Paid This I	_stimate r erro	<u>u</u>					
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J2S2160	0030	2031000	CLASS A EXCAVATION	CUYD	\$15.000	59	\$885.00
	0040	2035500	EMBANKMENT IN PLACE	CUYD	\$40.000	93	\$3,720.00
	0050	2036000	COMPACTING EMBANKMENT	CUYD	\$5.000	436	\$2,180.00
	0070	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	100F	\$1,000.000	2.800	\$2,800.00
	0800	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$12.750	1,500	\$19,125.00
	0140	6115030A	HEAVY STONE REVETMENT	SQYD	\$71.000	1,113	\$79,023.00
	0220	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	SQYD	\$3.500	1,906	\$6,671.00
	0240	7250418	18 IN. PIPE GROUP C	LF	\$70.000	106	\$7,420.00
	0440	7034216	TYPE H BARRIER	LF	\$85.000	574	\$48,790.00
	0480	7123610	SLAB DRAIN	EA	\$430.000	42	\$18,060.00
Droject 1282460	Total						\$400 674 00

Project J2S2160 - Total	\$188,674.00
Overall - Total	\$188,674.00

Overall - Total					\$100,074.00						
Contract Adjustments Ti											
Project Number	Adj Type	System Generated	Comments	Project Percentage	Amount						
J2S2160	Other Contract Adjustment	vierss	Anticipated liquidated damages for 3 days of RUC and Admin.	100	(\$7,650.00)						
Project J2S2160 - Total											
Overall - Total	Other Contract Adjustments	(\$7,650.00)									
Line Item Adjustments T	ine Item Adjustments This Estimate										

Revision 10/17/2025 Page 1 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 17, 2025

Estimat	gress e Num 11	Contract ID ber Prime Contractor	250221-B01 Gene Haile Exca	vating, Inc.	Pay Period Start Pay Period End	November 2, 2025 November 15, 2025	Original Contract Net Change Ord Current Contrac	er Amount	\$1,825,000.00 \$16,673.00 \$1,841,673.00
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type		Comments	Adjustmen Quantity	Line Item Adjustment Unit Price	Adjustment amount
2S2160	0030	CLASS A EXCAVATION	Price		Reference Item P Adjustment Type	rice Adjustment Index applied is FUEL	59	\$0.04	\$2.42
	0040	EMBANKMENT IN PLACE	Material				-9:	\$40.00	(\$3,720.00)
	0040	EMBANKMENT IN PLACE	Material		generated Materia Adjustment (0003	offsets the original syste al Payment Estimate Ite b) due to user keenl lent Estimate Exception ent Estimate.	em	\$40.00	\$3,720.00
	0040	EMBANKMENT IN PLACE	Price		Reference Item P Adjustment Type	rice Adjustment Index applied is FUEL	99	\$0.07	\$6.67
	0050	COMPACTING EMBANKMENT	Material				-430	\$5.00	(\$2,180.00)
	0050	COMPACTING EMBANKMENT	Material		generated Materia Adjustment (0004	offsets the original syste al Payment Estimate Ite d) due to user keenl lent Estimate Exception ent Estimate.	em	\$5.00	\$2,180.00
	0080	TYPE 1 AGGREGATE FO BASE (4 IN. THICK)	R Material				-1,500	\$12.75	(\$19,125.00)
	0080	TYPE 1 AGGREGATE FC BASE (4 IN. THICK)	DR Material		generated Materia Adjustment (0006	offsets the original syste al Payment Estimate Ite b) due to user keenl ent Estimate Exceptior ent Estimate.	em	\$12.75	\$19,125.00
	0080	TYPE 1 AGGREGATE FO BASE (4 IN. THICK)	R Price		Reference Item P Adjustment Type	rice Adjustment Index applied is FUEL	1,500	\$0.03	\$46.12
	0440	TYPE H BARRIER	Material				-574	\$85.00	(\$48,790.00)
	0440	TYPE H BARRIER	Material		generated Materia Adjustment (0007	offsets the original syste al Payment Estimate Ite () due to user keenl ent Estimate Exception ent Estimate.	em	\$85.00	\$48,790.00
	0450	SLAB ON CONCRETE NU	J- Material				-740	\$375.00	(\$279,750.00)
	0450	SLAB ON CONCRETE NU GIRDER	J- Material		generated Materia Adjustment (0008	offsets the original syste al Payment Estimate Ite b) due to user keenl ent Estimate Exceptior ent Estimate.	em	\$375.00	\$279,750.00
	0450	SLAB ON CONCRETE NU GIRDER	J- Other Item Adjustment	Substandard Item	Estimate 10. The	on of the funds held on e remainder to be return of the epoxy overlay.	ned		\$50,000.00
	0470	REINFORCING STEEL (BRIDGES)	Material				-35,620	\$1.50	(\$53,430.00)
	0470	REINFORCING STEEL (BRIDGES)	Material		generated Materia Adjustment (0009	offsets the original syste al Payment Estimate Ite b) due to user keenl lent Estimate Exception ent Estimate.	em	\$1.50	\$53,430.00
	0480	SLAB DRAIN	Material				-42	\$430.00	(\$18,060.00)
	0480	SLAB DRAIN	Material		generated Materia Adjustment (0010	offsets the original syste al Payment Estimate Ite of due to user keenl lent Estimate Exceptior yment Estimate.	em	\$430.00	\$18,060.00

Revision 10/17/2025 Page 2 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informati	on						
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work							
J2S2160	2S2160 FAS- S202(068) Bridge replacement J MACON over Mussel Fork Creek 0.8 mile east of Route 129 near New Boston												
Totals b	oy Job Nu	ımbers											
J2S2160					This Estimate	Previous	To Date						
		l Item Pay Item Adjustme		Item Pay	\$188,674.00 \$50,055.21 \$238,729.21	\$1,311,263.76 (\$96,004.83) \$1,215,258.93	\$1,499,937.76 (\$45,949.62) \$1,453,988.14						
	Incent	ive			\$0.00	\$0.00	\$0.00						
Disincentive \$0.00 \$0.00													
		ated Damages			\$0.00	\$0.00	\$0.00						
	Other	Contract Adjus	tments		(\$7,650.00)	\$0.00	(\$7,650.00)						

Revision 5/29/2025 Page 3 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J2S2160, Item 2035500, Project Item Line Number 0040, Material Set 203550096, Material 0200XXCS - Compacted Soil for Subgrade or Embankment, Acceptance Action Generic 0200XXCS is insufficient.	No Remark was entered by Engineer	keenl	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S2160, Item 2036000, Project Item Line Number 0050, Material Set 203600096, Material 0200XXCS - Compacted Soil for Subgrade or Embankment, Acceptance Action Generic 0200XXCS is insufficient.	No Remark was entered by Engineer	keenl	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S2160, Item 3040143, Project Item Line Number 0080, Material Set 304014396, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	No Remark was entered by Engineer	keenl	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S2160, Item 3040143, Project Item Line Number 0080, Material Set 304014396, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	No Remark was entered by Engineer	keenl	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S2160, Item 7034216, Project Item Line Number 0440, Material Set 703421696, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	No Remark was entered by Engineer	keenl	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S2160, Item 7034216, Project Item Line Number 0440, Material Set 703421696, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	No Remark was entered by Engineer	keenl	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S2160, Item 7034216, Project Item Line Number 0440, Material Set 703421696, Material 1057JMJCSS - Silicon Sealant for Sawed/Formed Jnts @, Acceptance Action Generic 1057JMJCSS is insufficient.	No Remark was entered by Engineer	keenl	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S2160, Item 7034221, Project Item Line Number 0450, Material Set 703422196, Material 0501CCB2MDA - Concrete, Modified B-2 w/Air, Acceptance Action Generic 0501CCB2MDA is insufficient.	No Remark was entered by Engineer	keenl	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S2160, Item 7061060, Project Item Line Number 0470, Material Set 706106096, Material 1036RSDFPL42M29 - Reinforcing Steel No. 9/M29 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	No Remark was entered by Engineer	keenl	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S2160, Item 7061060, Project Item Line Number 0470, Material Set 706106096, Material 1036RSDFPL42M16 - Reinforcing Steel No. 5/M16 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	No Remark was entered by Engineer	keenl	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S2160, Item 7061060, Project Item Line Number 0470, Material Set 706106096, Material 1036RSDFPL42M22 - Reinforcing Steel No. 7/M22 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	No Remark was entered by Engineer	keenl	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S2160, Item 7061060, Project Item Line Number 0470, Material Set 706106096, Material 1036RSDFPL42M36 - Reinforcing Steel No. 11/M36 Gr 60/M420@, Acceptance Action Generic ReSteelBars is insufficient.	No Remark was entered by Engineer	keenl	Overridden
Estimate Exception Type: Insufficient Materials: Project J2S2160, Item 7123610, Project Item Line Number 0480, Material Set 712361096, Material 0712STDRSB - Slab Drain, Acceptance Action Generic 0712STDRSB is insufficient.	No Remark was entered by Engineer	keenl	Overridden
Estimate Exception Type: Item Overrun: Contract 250221-B01, Contract Project J2S2160, Project Item Line Number 0360, Contract Line Item Number 0360, Item 7011108, Minor Item.	No Remark was entered by Engineer	keenl	Acknowledged
Estimate Exception Type: Item Overrun: Contract 250221-B01, Contract Project J2S2160, Project Item Line Number 0410, Contract Line Item Number 0410, Item 7021212, Minor Item.	No Remark was entered by Engineer	keenl	Acknowledged

Revision 5/29/2025 Page 4 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ract	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
21-	J2S2160	0001	0010	1081000	SIGNET DBE REPORTING	1.00	0.00	1.00	LS	1.00	\$1,000.00	\$1,000.0
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.20	\$27,500.00	\$5,500.0
		0001	0030	2031000	CLASS A EXCAVATION	1,308.00	0.00	1,308.00	CUYD	713.00	\$15.00	\$10,695.0
		0001	0040	2035500	EMBANKMENT IN PLACE	298.00	0.00	298.00	CUYD	93.00	\$40.00	\$3,720.0
		0001	0050	2036000	COMPACTING EMBANKMENT	1,169.00	0.00	1,169.00	CUYD	436.00	\$5.00	\$2,180.0
		0001	0060	2072000	LINEAR GRADING CLASS 2	1.70	0.00	1.70	STA	0.00	\$1,500.00	\$0.0
		0001	0070	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	6.30	0.00	6.30	100F	2.80	\$1,000.00	\$2,800.0
		0001	0800	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	1,655.00	0.00	1,655.00	SQYD	1,500.00	\$12.75	\$19,125.0
		0001	0090	3105003	GRAVEL (A) OR CRUSHED STONE (B)	737.00	0.00	737.00	SQYD	0.00	\$11.00	\$0.0
		0001	0100	4010103	10 INCHES, BITUMINOUS PAVEMENT	1,655.00	0.00	1,655.00	SQYD	0.00	\$118.00	\$0.0
		0001	0110	4071005	TACK COAT	298.00	0.00	298.00	GAL	0.00	\$16.50	\$0.0
		0001	0120	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	29.00	0.00	29.00	CUYD	0.00	\$65.00	\$0.0
		0001	0130	6096041	PLACING TYPE 1 ROCK DITCH LINER	29.00	0.00	29.00	CUYD	0.00	\$30.00	\$0.0
		0001	0140	6115030A	HEAVY STONE REVETMENT	1,513.00	0.00	1,513.00	SQYD	1,513.00	\$71.00	\$107,423.0
		0001	0150	6161005	CONSTRUCTION SIGNS	218.00	0.00	218.00	SQFT	218.00	\$11.00	\$2,398.0
		0001	0160	6161008	ADVANCED WARNING RAIL SYSTEM	3.00	0.00	3.00	EA	3.00	\$110.00	\$330.0
		0001	0170	6161010	RELOCATED SIGNS	64.00	0.00	64.00	SQFT	64.00	\$11.00	\$704.0
		0001	0180	6161030	TYPE 3 MOVEABLE BARRICADE	15.00	0.00	15.00	EA	15.00	\$120.00	\$1,800.0
		0001	0190	6181000	MOBILIZATION	1.00	0.00	1.00	LS		\$175,035.75	\$175,035.7
		0001	0200	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2,610.00	0.00	2,610.00	LF	0.00	\$1.50	\$0.0
		0001	0210	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2,610.00	0.00	2,610.00	LF	0.00	\$1.50	\$0.0
		0001	0220	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	2,306.00	0.00	2,306.00	SQYD	2,306.00	\$3.50	\$8,071.0
		0001	0230	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.25	\$7,500.00	\$1,875.
		0001	0240	7250418	18 IN. PIPE GROUP C	106.00	0.00	106.00	LF	106.00	\$70.00	\$7,420.
		0001	0250	8059901	MISC.SEEDING AND MULCHING	1.00	0.00	1.00	LS	0.00	\$3,800.00	\$0.
		0001	0260	8061005	ROCK DITCH CHECK	100.00	0.00	100.00	LF	60.00	\$14.50	\$870.
		0001	0270	8061016	SEDIMENT REMOVAL	23.00	0.00	23.00	CUYD	0.00	\$20.00	\$0.
		0001	0280	8061019	SILT FENCE	1,272.00	-82.00	1,190.00	LF	1,190.00	\$3.50	\$4,165.
		0001	0290	8061050	TYPE C BERM	340.00	0.00	340.00	LF	340.00	\$15.00	\$5,100.
		0040	0300	9031270A	2 IN. PSST POST - 12 GA.	240.00	0.00	240.00	LF	0.00	\$16.50	\$0.
		0040	0310	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	15.00	0.00	15.00	EA	0.00	\$200.00	\$0.
		0040	0320	9035069A	SHF-FLAT SHEET FLUORESCENT	36.00	0.00	36.00	SQFT	0.00	\$47.00	\$0.
		0070	0330	2061000	CLASS 1 EXCAVATION	80.00	0.00	80.00	CUYD	80.00	\$55.00	\$4,400.
		0070	0340	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$37,500.00	\$37,500.
		0070	0350	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	109.00	0.00	109.00	SQYD	0.00	\$217.00	\$0.
		0070	0360	7011108	DRILLED SHAFTS (5 FT. 0 IN. DIA.)	107.00	0.00	107.00	LF	114.00	\$1,000.00	\$114,000.
		0070	0370	7011207	ROCK SOCKETS (4 FT 6 IN. DIA.)	91.00	0.00	91.00	LF	91.00	\$800.00	\$72,800.
		0070	0380	7011300	VIDEO CAMERA INSPECTION	4.00	0.00	4.00	EA	4.00	\$1,000.00	\$4,000.
		0070	0390	7011400	FOUNDATION INSPECTION HOLES	131.00	0.00	131.00	LF	131.00	\$125.00	\$16,375.
		0070	0400	7011600	SONIC LOGGING TESTING	4.00	0.00	4.00	EA	4.00	\$1,500.00	\$6,000.
		0070	0410	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	300.00	0.00	300.00	LF	307.00	\$125.00	\$38,375.
		0070	0420	7027000	PILE POINT REINFORCEMENT	8.00	0.00	8.00	EA	8.00	\$190.00	\$1,520.
		0070	0430	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	106.30	0.00	106.30	CUYD	81.30	\$900.00	\$73,170.
		0070	0440	7034216	TYPE H BARRIER	574.00	0.00	574.00	LF	574.00	\$85.00	\$48,790.
		0070	0450	7034210	SLAB ON CONCRETE NU-GIRDER	785.00	0.00	785.00	SQYD	746.00		
		0070									\$375.00	\$279,750.
		0070	0460	7056022	NU 43, PRESTRESSED CONCRETE NU-GIRDER	779.00	0.00	779.00	LF	779.00	\$444.00	\$345,876.
		0070	0470	7061060	REINFORCING STEEL (BRIDGES)	35,620.00	0.00	35,620.00	LB	35,620.00	\$1.50	\$53,430
		0070	0480	7123610	SLAB DRAIN	42.00	0.00	42.00	EA	42.00	\$430.00	\$18,060
		0070	0490	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$2,500.00	\$5,000
		0070	0500	7161000	PLAIN NEOPRENE BEARING PAD	6.00	0.00	6.00	EA	6.00	\$200.00	\$1,200
		0070	0510	7161002	LAMINATED NEOPRENE BEARING PAD	12.00	0.00	12.00	EA	12.00	\$210.00	\$2,520.
			5001	7039901	MISC.Additional Rebar Due to Design Error	0.00	1.00	1.00	LS	1.00	\$16,960.00	\$16,960.
					ate as of Report Generated Date							\$1,499,937.

Revision 5/29/2025 Page 5 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J2S2160

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030	2031000	CLASS A EXCAVATION	11/14/25	11/17/25	1	59.00	CUYD	pavement, subgrade removal					
0040	2035500	EMBANKMENT IN PLACE	11/14/25	11/17/25	1	93.00	CUYD	bridge ends					
0050	2036000	COMPACTING EMBANKMENT	11/14/25	11/17/25	1	436.00	CUYD	bridge ends, alpine ave					
0070	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	11/14/25	11/17/25	1	2.80	100F	pavement					
0080	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	11/14/25	11/17/25	1	1,500.00	SQYD	pavement					
0140	6115030A	HEAVY STONE REVETMENT	11/14/25	11/17/25	1	1,113.00	SQYD	Remaining locations around end bents					
0220	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	11/14/25	11/17/25	1	1,906.00	SQYD	Remaining locations					
0240	7250418	18 IN. PIPE CULVERT GROUP C	11/13/25	11/17/25	1	106.00	LF	F.E., and Alpine Ave					
0440	7034216	TYPE H BARRIER	11/4/25	11/10/25	1	574.00	LF	Barrier wall, both sides					
0480	7123610	SLAB DRAIN	11/5/25	11/10/25	1	42.00	EA	A7687					

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 6 of 12



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
S2160	0030	CLASS A EXCAVATION	Price FUEL		4	Aug 1, 2025	SYSTEM	\$21.58	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					11	Nov 17, 2025	SYSTEM	\$2.42	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$24.00	
			Price FUEL -	Total				\$24.00	
	0030	Total						\$24.00	
	0040	EMBANKMENT IN PLACE	Material		11	Nov 17, 2025	SYSTEM	(\$3,720.00)	
				11		Nov 17, 2025	SYSTEM	\$3,720.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user keenl overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
			Price FUEL		11	Nov 17, 2025	SYSTEM	\$6.67	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$6.67	
			Price FUEL -	Total				\$6.67	
	0040 -	Total						\$6.67	
	0050	COMPACTING EMBANKMENT	Material		11	Nov 17, 2025	SYSTEM	(\$2,180.00)	
					11	Nov 17, 2025	SYSTEM	\$2,180.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user keenl overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0050 -	Total						\$0.00	
	0800		REGATE FOR		11	Nov 17, 2025	SYSTEM	(\$19,125.00)	
					11	Nov 17, 2025	SYSTEM	\$19,125.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user keenl overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
			Price FUEL		11	Nov 17, 2025	SYSTEM	\$46.12	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$46.12	
			Price FUEL -	Total				\$46.12	
	0080	Total						\$46.12	
	0150	CONSTRUCTION SIGNS	Material		2	Jul 1, 2025	SYSTEM	(\$704.00)	
					2	Jul 1, 2025	SYSTEM	\$704.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user vierss overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Jul 16, 2025	SYSTEM	(\$2,398.00)	
					3	Jul 16, 2025	SYSTEM	\$2,398.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user sandic1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0150	150 - Total					\$0.00		
	0160	ADVANCED WARNING RAIL SYSTEM	Material		3	Jul 16, 2025	SYSTEM	(\$330.00)	
		5.01LW			3	Jul 16, 2025	SYSTEM	\$330.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user sandic1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
	Material		Material - To	tal				\$0.00	
	0160 -	Total						\$0.00	



					1				
Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2S2160	0180	TYPE 3 MOVEABLE	Material		3	Jul 16, 2025	SYSTEM	(\$1,800.00)	
		BARRICADE			3	Jul 16, 2025	SYSTEM	\$1,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user sandic1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	0180 -	Total						\$0.00	
	0290	TYPE C BERM	Material		6	Aug 29, 2025	SYSTEM	(\$5,100.00)	
					6	Aug 29, 2025	SYSTEM	\$5,100.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user hallet1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					7	Sep 16, 2025	SYSTEM	(\$5,100.00)	
					7	Sep 16, 2025	SYSTEM	\$5,100.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user keenl overridding Payment Estimate Exception 7 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tot					\$0.00	
	0290 -	Total						\$0.00	
		DRILLED SHAFTS (5 FT. 0 IN. DIA.)	Material		5	Aug 18, 2025	SYSTEM	(\$31,000.00)	
		(5 FT. 0 IN. DIA.)			5	Aug 18, 2025	SYSTEM	\$31,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user vierss overridding Payment Estimate Exception 1 on the current Payment Estimate.
					6	Aug 29, 2025	SYSTEM	(\$88,000.00)	
					6	Aug 29, 2025	SYSTEM	\$88,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user hallet1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					7	Sep 16, 2025	SYSTEM	(\$88,000.00)	
					7	Sep 16, 2025	SYSTEM	\$88,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user keenl overridding Payment Estimate Exception 2 on the current Payment Estimate.
					8	Sep 30, 2025	SYSTEM	(\$114,000.00)	
					8	Sep 30, 2025	SYSTEM	\$114,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user vierss overridding Payment Estimate Exception 2 on the current Payment Estimate.
					9	Oct 16, 2025	SYSTEM	(\$114,000.00)	
					9	Oct 16, 2025	SYSTEM	\$114,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user keenl overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
			Overrun	Overrun	8	Sep 30, 2025	SYSTEM	(\$7,000.00)	
				Overrun - To	otal			(\$7,000.00)	
			Overrun - To	tal				(\$7,000.00)	
	0360 -	Total						(\$7,000.00)	
	0360 -	ROCK SOCKETS (4 FT 6 IN. DIA.)	Material		6	Aug 29, 2025	SYSTEM	(\$56,000.00)	
					6	Aug 29, 2025	SYSTEM	\$56,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user hallet1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					7	Sep 16, 2025	SYSTEM	(\$56,000.00)	
					7	Sep 16, 2025	SYSTEM	\$56,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user keenl overridding Payment Estimate Exception 5 on the current Payment Estimate.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2S2160	0370	ROCK SOCKETS (4 FT 6 IN. DIA.)	Material		8	Sep 30, 2025	SYSTEM	(\$72,800.00)	
					8	Sep 30, 2025	SYSTEM	\$72,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user vierss overridding Payment Estimate Exception 4 on the current Payment Estimate.
					9	Oct 16, 2025	SYSTEM	(\$72,800.00)	
					9	Oct 16, 2025	SYSTEM	\$72,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user keenl overridding Payment Estimate Exception 4 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	0370 -	Total						\$0.00	
	0410	GALVANIZED STRUCTURAL STEEL PILES (12	Material		4	Aug 1, 2025	SYSTEM	(\$41,000.00)	
		IN `			4	Aug 1, 2025	SYSTEM	\$41,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user sandic1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
			Overrun	Overrun	4	Aug 1, 2025	SYSTEM	(\$3,500.00)	
					5	Aug 18, 2025	SYSTEM	\$2,625.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',125.00000 - 125.00000, 'is applied (if non-zero).
				Overrun - To	otal			(\$875.00)	
			Overrun - To	tal				(\$875.00)	
	0410 -	Total						(\$875.00)	
	0420	PILE POINT REINFORCEMENT	Material		4	Aug 1, 2025	SYSTEM	(\$1,520.00)	
					4	Aug 1, 2025	SYSTEM	\$1,520.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user sandic1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00 \$0.00	
		Material - Total							
		20 - Total							
	0430	CLASS B CONCRETE (SUBSTRUCTURE)	Material		6	Aug 29, 2025	SYSTEM	(\$29,970.00)	
					6	Aug 29, 2025	SYSTEM	\$29,970.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user hallet1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					7	Sep 16, 2025	SYSTEM	(\$29,970.00)	
					7	Sep 16, 2025	SYSTEM	\$29,970.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user keenl overridding Payment Estimate Exception 6 on the current Payment Estimate.
					8	Sep 30, 2025	SYSTEM	(\$73,170.00)	
					8	Sep 30, 2025	SYSTEM	\$73,170.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user vierss overridding Payment Estimate Exception 7 on the current Payment Estimate.
					9	Oct 16, 2025	SYSTEM	(\$73,170.00)	
					9	Oct 16, 2025	SYSTEM	\$73,170.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user keenl overridding Payment Estimate Exception 7 on the current Payment Estimate.
			- Total					\$0.00	
		Material - Total						\$0.00	
	0430 -							\$0.00	
	0440	TYPE H BARRIER	Material		11	Nov 17, 2025	SYSTEM	(\$48,790.00)	
					11	Nov 17, 2025	SYSTEM	\$48,790.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user keenl overridding Payment



Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
J2S2160	0440	TYPE H BARRIER	Material	Туре					Estimate Exception 7 on the current Payment Estimate.
			material	- Total				\$0.00	Zaminio Zioopiani i an ino annoni a ginoni Zaminio.
			Material - To					\$0.00	
	0440 -	- Total	al						
	0450	SLAB ON CONCRETE NU- GIRDER	Construction Stockpile		9	Oct 16, 2025	SYSTEM	\$0.00 (\$14,883.53)	Payment Estimate Item Adjustment generated Stockpile Transaction
					10	Nov 3, 2025	SYSTEM	(\$20,476.71)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total	Total			(\$35,360.24)	
			Construction	n Stockpile - '	Total			(\$35,360.24)	
			Construction Stockpile STMI		3	Jul 16, 2025	SYSTEM	\$37,208.83	Payment Estimate Item Adjustment generated Stockpile Transaction
			STIVII	- Total				\$37,208.83	
			Construction	n Stockpile S	TMI - Tota			\$37,208.83	
			Material		9	Oct 16, 2025	SYSTEM	(\$117,750.00)	
					9	Oct 16, 2025	SYSTEM	\$117,750.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user keenl overridding Payment Estimate Exception 10 on the current Payment Estimate.
					10	Nov 3, 2025	SYSTEM	(\$279,750.00)	
					10	Nov 3, 2025	SYSTEM	\$279,750.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user keenl overridding Payment Estimate Exception 1 on the current Payment Estimate.
					11	Nov 17, 2025	SYSTEM	(\$279,750.00)	
					11	Nov 17, 2025	SYSTEM	\$279,750.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user keenl overridding Payment Estimate Exception 8 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
			Other Item Adjustment	SUBI	10	Nov 3, 2025	vierss	(\$90,000.00)	Funds withheld pending resolution of deck constructed at insufficient thickness.
					11	Nov 17, 2025	vierss	\$50,000.00	Returning a portion of the funds held on Estimate 10. The remainder to be returned upon completion of the epoxy overlay.
				SUBI - Tota	ı			(\$40,000.00)	
			Other Item A	djustment - 1	otal			(\$40,000.00)	
	0450 -							(\$38,151.41)	
	0460	NU 43, PRESTRESSED CONC NU-GIRDER	Construction Stockpile		9	Oct 16, 2025	SYSTEM	(\$190,432.78)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$190,432.78)	
			Construction	1 Stockpile -	Total			(\$190,432.78)	
			Construction Stockpile STMI		3	Jul 16, 2025	SYSTEM	\$190,432.78	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$190,432.78	
			Construction Stockpile STMI - Total					\$190,432.78	
								\$0.00	
		- Total							
		REINFORCING STEEL (BRIDGES)	Material		9	Oct 16, 2025	SYSTEM	(\$53,430.00)	
		REINFORCING	Material		9	2025 Oct 16, 2025	SYSTEM	(\$53,430.00) \$53,430.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user keenl overridding Payment Estimate Exception 13 on the current Payment Estimate.
		REINFORCING	Material		9	2025 Oct 16, 2025 Nov 3, 2025	SYSTEM	(\$53,430.00) \$53,430.00 (\$53,430.00)	Estimate Item Adjustment (0007) due to user keenl overridding Payment Estimate Exception 13 on the current Payment Estimate.
		REINFORCING	Material		9	2025 Oct 16, 2025 Nov 3,	SYSTEM	(\$53,430.00) \$53,430.00	Estimate Item Adjustment (0007) due to user keenl overridding Payment
		REINFORCING	Material		9	2025 Oct 16, 2025 Nov 3, 2025 Nov 3,	SYSTEM	(\$53,430.00) \$53,430.00 (\$53,430.00)	Estimate Item Adjustment (0007) due to user keenl overridding Payment Estimate Exception 13 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user keenl overridding Payment





Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2S2160	0470	REINFORCING STEEL (BRIDGES)	Material						Estimate Exception 9 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0470 -	- Total						\$0.00	
	0480	SLAB DRAIN	Material		11	Nov 17, 2025	SYSTEM	(\$18,060.00)	
					11	Nov 17, 2025	SYSTEM	\$18,060.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user keenl overridding Payment Estimate Exception 13 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0480	- Total						\$0.00	
J2S2160 - Total								(\$45,949.62)	
Overall -	Overall - Total								



Contract Adjustments for Contract - 250221-B01

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
11	J2S2160	Other Contract Adjustment	OTHR	(\$7,650.00)	100	November 17, 2025	vierss	Anticipated liquidated damages for 3 days of RUC and Admin.
11 - Total				(\$7,650.00)				
Overall - Total				(\$7,650.00)				

Revision 5/29/2025 Page 12 of 12